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1. FaffT R TenguiddH s A rer AT
U ¢ 3R TP fia 81 fauw §1a PRI Three of the

following four number-pairs are alike in a certain way and one
is different. Find the odd one out.

(@ 7:23 (b) 8:26
(c) 10:30 (d) 9:29

2. TP T HIYT H, RIVER P ERVRI & =0 H forar oman g,
I He YT H TRAIN BT I foRAT FRIM? In a code

language, RIVER is written a ERVRI how will TRAIN be
written as in that language?

(@) RATIN (b) INATR
(c)  RAINI (d) RTANI

3. Fufafed IR I A4 4 &9 v RffT yeR A we
T ¢ 3R TP i g1 fauH 31 FIRMEI Three of

following four words are alike in a certain way and one is
different. Find odd one out.

€) ag_éCarpenter (b) T Cobbler
(c) goif Tailor (d) TRI&P Teacher

4. 39 APy &1 Tua BT s W U A Hafvd 21
M TR R TR gIRT U Ugd | WaRa B

Select the option that is related to the third term. In the
same way the second term related to first.
AZYB : CXWD :: BYWD :?

(@) DWUF (b) DUWF
(c) AYBE (d) AYWE

5. Fafafes aR dengm a9 &9 e A yer @
TP A & 3R TP fUT g | fauH 1 BRI Three of

the following four number-pairs are alike in a certain way
and one is different. Find odd one out.

(@ 78:15 (b) 79:20
(c) 88:16 (d) 69:15

6. 39 APy &1 9= B, W fadt TenA wala g,
T g gudt TE, Ugel e & Wl 32
Select the option that is related to the third number in the
same way as the second number is related to the first?

15:36::24: 7
(@ 25 (b) 36
(c) 46 (d) 34

7. TP $H& UINT H, TRAIN BT MRzIG & =T H ferar SIrar 81
3I9 YT # FACTOR P! HH for@T SIAT? In a code
language, TRAIN is written as MRZIG. How will FACTOR be
written as in that language ?

(@) ILXGUZ (b) ILGXZU
(c) UZXGLI (d) UZGXIL

8. 39 U= g $T 994 P R 3 T=md I
TR W&t 3, forg yer fir v e gw $t
e Hefid 71
Select the number pair in which the two numbers are
related in the same way as are the two number of given
number pair?

17 : 65

(@ 5:9 (b) 10:29

(©)

@)
(©)

10.

@)
©

11.

@)
©

12.

@)
(©

13.

@)

17:63 (d) 12:33.

Tw U 91 Q) fRufaa ot - gxfar man 31 =i o
B bt T i, afe aa w4 32

Two positions of same dice are given. Which number will
be at the top if ‘4’ is bottom?

5 d 1

fafafT R Iengu A A dH e AT rer
ww%aﬁ?wﬁﬁ%l ﬁwmaﬁﬁm Three of
the following four number - pair are alike in a certain way
and one is different. Find the odd one out.

5:12 (b) 8:24

13:74 (d) 14:72

frafafee aR Jengm § 3 @9 e Afia ver @
TP JH ¢ 3R TP fUT g | FauH 1 BIRTEI Three of

the following four number - pair are alike in a certain way
and one is different. Find the odd one out.

221 (b) 238
187 d) 361
1S aepfa A fpea Bry= 82

How many triangles are these in the given figure?

26 (b) 30
24 (d) 28

1 fRw e Y=l & a1g 3 e few e §1 st
o T HYA P TG AT R HA € A Fdya aE |
i udia gd 8 iR fr fFAvlg a1 8 & g M
forepuf # @ @19 a1 oy, R T SY=T @1 aifhe
FU N STERU HAl/HA /8

DY:

1 R &R, a B

Il 8 TR, T[S B

forea:.

1. $B TS, TR

n. goft I, TR %I Below are given statements
followed by some conclusions. You have to take the given
statements to be true even if they seem to be at variance
with commonly known facts and then decide which of the
given conclusions logically follow (s) from the given
statements.

Statements:

1. All teachers are schools.

1l. Some teachers are good.

Conclusion

|. Some goods are teachers.

Il. All schools are teachers.

HId THY | SR (b)  Had (T5HY 11 STIROT
W% Only conclusion | Eb_{?ﬂ% Only conclusion
follows I follows
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16.

@
©

17.

@
©

18.

@
©

19.

3T e SR (d)
Eb_\’ﬁ% Both conclusions

follows

T dt ey | 71 8 fsed
11 3RO AT §

Neither | nor Il follows

& 715 quif 3t gRgar | w-a1 9f TgE Rad vl A

FE T A T TR Y B QRT HRT 82

Select the combination of letters that when sequentially
placed in the gaps of the given letter series will complete

the series.
abc_d_bc_d_b_cda
bacde (b)
decdb (d)

Fafafea feamdsndTen g ) FR_MAR

cdabe
dacab

Which number will replace the question mark (?) in the
following series?
7,8.4,10.8,12.096, ?, 17.41824

13.6131 (b) 13.2204
14.5152 d) 14.6254
U FAf3d FeursT &, MENTION &Y LNEITNO & &0 |

foraT T 8 | U HeHTST H PATTERN &Y fh T bR

ﬁl@T SITET? In a certain code, MENTION is written as
LNEITNO. How PATTERN written in that code?

PTAETNR (b) OTAETRN
OTAETNR (d) APTTREM
I TR FT 99 Fiford Forad Q= s=t It

THR TR & o yer Fufife sengmw #t
T e fRa §

Select the number-pair in which the two numbers are
related in the same way as are the two numbers of the
following number-pair.

729:23::?
343:9 (b) 125:6
512:11 (d) 216:8

A, B, C & A 18249 3T &I 59 YR fauifora frar
T 5 A 31 fewn, 8 & iR &1 Qi aut ¢ & i
P11 81 ¢ BT R 71 B | Divide Rs. 18249
among A, B, C in such a way that A’s share is double the
share of B and thrice the share of C. Find the share of C?
3318 (b) 4206
1659 (d) 4191

fFafafad el #t arfd® i srfyuf wa ¥ arafRua
P

189

2-9&

3-APSI

- i

Sﬁfiﬂ Arrange the following words in a logical and
meaningful order.
1-Table

2-Tree

3- Wood

4-Seed

5- Plant

@)
(©)

20.

@)
(©)

21.

@)
(©)

22.

(@)

(©

23.

@)
(©)

24.

@)
(©)

25.

4,5,3,2,1 (b) 4,52,3,1

1,3,2,4,5 (d) 1,2,3,4,5

I A9 Tpfa &1 99 DI oY few e aif & =
T LY HEY P g=Tar 3?

RER, IS, S

Select the Venn diagram that best illustrates the
relationship between the following case.

City, State, Country

(b)
@ - (d) @

Hrem, st o ¢ 2, e & wed B, “smut
Hrar ¥, AR rar 3t Bidt v & <t wara o fadh
T 87| IaTd, e 3 R veR g 82
Neelam, who is deepak’s daughter, says to Deepika, “your
mother Rekha is the younger sister of my father who is the
third child of Ramlal.” How is Ramlal related to Deepika?

HSWIER Grandfather (b) TUGT Father

3{&d Uncle ) fFuffea g fearsn
P dl Can’t be
determined

Frafafaa snefa gaar & snTelt snepfa w1+ Wt gh,

I AP BT T99 o |

Select the figure that will come next in the following figure
series.

| | A | 2

a W
(b)

i W
(d)

fafaf@a jeard e waviagg, wa s ) &
T UR 3T

GKI, KOM, 0sqQ, ?
Which letter-cluster will replace the question mark (?) in
the following series?

GKI, KOM, 0sQ, ?
RTV (b) TXV
SWU (d) syv

Tfg TODAY Y uQEcz W Fed faT 74T §, Y BEFORE
Cakc x| P& a1 s gear %? It TODAY is coded as

UQECZ, how can BEFORE be coded?
CCBHIG (b) HUQSG
CGGQSG (d)  CPSSF

TS 3TeHt & for Y ok qd §¢ I A el i Suat
i X fUar & 73 3 el 31 N D15 UIS 3R 98 a1
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©
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@
(©

28.

@
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29.

@
©

30.

@
(©

31.

%'I meﬂ'ﬁéﬁ?aﬁw YT? Looking at the

portrait of a man, Ram said, “His mother is the wife of my

father’s son. Brothers and sisters | have none”. Whose
portrait was Ram looking at?

3T FSHTER His (b) 3‘I'q%f113[ His son
grandfather

30 7-|'|_5C His brother (d) 370 BT His cousin
R Te A & 3uR 0 v &) afRud frar man 2|
W fr e REs T swe:?

Few cubes are arranged as shown in the figure. How many
cubes are unseen?

]

8 (b) 10

12 (d) 14
éﬁq-wﬁwmﬁaﬂ'éwmﬁﬁmm

Which of the answer figures is exactly mirror of given
figure?

Question Figure:

654

Answer Figure:

9S%v b»CO 456 654

1mn @ @B @
b) 2
(d 4

Tfe ‘News’ BT ‘wens’ FiraT SiTaT €, @ ‘maTe’ P gt
Fe HTHT H A Rr@m AT if ‘News’ is written as

‘WENS’ then how ‘MATE’ will be written in this code?
TAME (b) META
EATM (d) AMET

Tfe REASON 1 FIS 5 3R BELIEVED P H1S 7 far war
®, A1 GOVERNMENT & foTT &1 SIS 82 If REASON is

coded as 5 and BELIEVED as 7, what is the code number for
GOVERNMENT?

6 (b) 8

9 (d) 10

I IR DI 3R 12 faft, wmar ], b 10 foeft, ufdm ot
IR <Tan g, R 12 feft. gféror 36t o wimar 31 7w
URFY® R ¥ fHa-t x® %? Ram walks 12 kms to the
North, then 10 kms to West, 12 kms to South. How far is
Ram from the starting points?

9 kms (b)

8 kms (d)

TR T8 IPfa F AR TH NS & cha B
HIGHI PICT G & , PV P! @ R 5T IW
pfa o femrs m?

A paper is folded and cut as shown below. How will it
appear when unfolded?

13 kms
10 kms

@

(©)
33.

(@)

(©

34.

(@)

(©)

35.

[ i
L] o0 H
BN e/
] # E :
N ! -
[T He .

b

o¥ © (b) o 0.0

DO o (d) oo ©
&t snpfar B WE qdur sepfa 1 T HIRA, e
Tfur ) arpfa & arfY SR Y@ AT B

Identify the mirror image of the following image if mirror
is placed on right side of the figure.

©
s | ; 4‘ -
o
Frafafaa snefa gear § sFmd ®IF W M arat

3PpTd BT Ig= P

Select the figure that will come next in the following series.

R RIS

\w eI j
%
S e,
@

gﬂ&@hwmaﬂﬁmﬁmﬁ?ﬁﬂ?mﬁ%ﬁ
|

Select the figure in which the given figure is embedded.

A
@ (b)
@ (@) \

Frafafaa srefa o & sFTd R R 31+ areft
3TPHTd BT Ig= P
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36.

@)
©

37.

@

(©

38.

@

©

39.

Select the figure that will come next in the following figure
series.

dYC |luvw | CY | nn ?.
CoO v D>C | N

5o > ¢
ne o [ <2
D > C

& ¢ ampfa #t T g sl 1 TH PR, w19
Tfur Y arepfar & SrfY SR T@T STaT 31
Select the mirror image of the following figure if mirror is
placed on the right side of the given figure.

S
l%% (b) 8§~(
%§~r (d) S

g@rmﬁrmwaﬁﬁnﬁm’aﬁﬁmﬁ%ﬂ
|

Select the figure in which the given figure is embedded.

N

@ (b)
e | S

Frafafea srefa o & sFTd RIM WR 31+ arelt
STPHTA BT I oI

Select the figure that will come next in the following figure

series.
? ‘

3w E[m|
(b)'zl

w El
(d)

fFafafaa arefa &, Biyw, Rt o qxfar 8, 99,
ST o1 gxiiar 3, SimaTd, e &Y g=ifar 8 o o,
goul @ quifar 31 fafte st § wen afeml #
ST P g 71

e =gt gfawm Rigrs wu A 82

In the following diagram, the triangle represents
Teachers’, the circle represents ’intelligent’, the rectangle
represents '"Urban’ and the square represents ‘Males’. The

numbers in different segments show the number of
persons.

‘

@)
(©)

40.

(@)

(©

41.
@
(©

42.
@)
©

43.

@)
(©)

44.

@)
(©)

45.

@)
(©)
C5H

46.

Intelligent

7
)1 B trhan

Male = e /8 -

How many urban intelligent teachers are not male?

12 (b) 14
10 d 4

Frafafaa snefa gaar ¥ sFTd ®IF W 3= arat
3TPHTd BT Ig I

Select the figure that will come next in the following figure
series.

S y S, T N\ Vs N
7 NC A NI
. N—/ |\

\__|
(b) @

D

o (O

143:64:: 153 : 2143 :64 :: 153 : ?
45 (b) 81
53 (d) 49

L

289:17::961:7289:17::961:7
29 () 31
27 (d 19

& Y quit B jaen § -1 quf TE faa = A
PP U A T W 4T D QR BT 82
Select the combination of letter that when sequentially
placed in the gap of the following letter series.
b_cb_c_b_.

bbcb (b)  ccbb

bbbc (d) cbcb

fFafaf@a e & wy fag o) ® FAA T=/n
yfefia s¥ft?

Which number will replace the question mark (?) in
following series?

3,7,10,17,?, 44.

20 (b) 19

21 (d) 27

fFafaf@a e & wy fag o) & FAH d=n
uferefid s¥i?

Which number will replace the question mark (?) in the
following series?

P2R, S3V, W4A, ........
B6E (b) C5G
CSH (d) DsE

TP B HTHT H, VICTORY @I cIvUYRO & & | ferar
T8 | CHENNEL @) fpT =0 H foar SIRARM? 1n a Code
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@
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47.

@
(©

48.

@
(©

49.

@
(©

50.

@
©

51.

@

(©

52.

@

language VICTORY is written as CIVUYRO. How will
CHENNEL is written as?

CHENLEN (b)
CHEOLNE (d)

I GEI1-gW P 94 Siford R ST T=mg I
TPR TG 8 S yer Fafafea dengm ot
=g TEfa g

Select the number pair in which the two number are
related In the same way as are the two number of the

CEHMLEN
EHCOLEN

following.

24:30

22:23 (b) 24:28

48 : 40 (d 30:38

fFrafafaa gwfiezo # $19-8 ydie! @) 3mug § 9ear
ST AR, d1fds 59 TE !t a1 o Ab?

Which two signs should be interchanged in the following
equation to make it correct?
12+6-6+3%x3=5

+3R - +and - (b)
~3R+-and+ (d)

+3-ﬁT++and+
+3-ﬁTx+andx

gfe ATUL B 2212011 & =Y | Heas far wmar 21
RAMA ®Y 192120 & &9 H Heag foar 9ar 8, @ MADE
D! fPT YR Teas fobar o1 9Ha1 82 If ATUL is coded
as 2212011. RAMA is coded as 192120 then. How will
MADE be coded as?
12236 (b)
14234 (d)

I GWI1-gH P 9g Bl o S ey I
THR WEd § o yeR Fafafea den-gm ot
= TEfa g

Select the number pair in which the two numbers are
related in the same way as are the two number of the
following number pair.

13056
14045

4:32
8:248 (b) 5:62
10 : 160 (d) 6:108

SfehH <% el = 30 IUAT 311+ie e | fraffad
A A P19 A1 fagig Ui fFar Y12 Which one of the

following revolts was made famous by Bankim Chandra
Chatterjee in his novel ‘Anand Math’?

il faI8 Bhil uprising  (b) TR 3R TR fagle
Rangpur and Dinapur
uprising

%Wﬁ?ﬁ?{q (d) G faglg sanyasi

ﬁaﬁ‘s’ Bishnupur and rebellion

Birbhum rebellion

fFafafea § 9 fea a9 yorRr sRaaR @1 e
WI? Who among the following started the newspaper
Shome Prakash?

TG IR (b) 3R TS AENER
Dayanand Saraswati Ishwar Chandra
Vidyasagar

(©)

53.

@)
(©)

54.

(@)
©

55.

@)
(©

56.

@)

(©

57.

@)

(©)

58.

@)

AT IHAGA M Raja (d)

Rammohan Roy

Frafafea 9 3 foa T=a & e o) siel A g
%Wﬁﬁﬁ?ﬂﬁfﬂ YT? The ruler of which one of the
following States was removed from power by the British
on the pretext of misgovernance?

3HdY Awadh (b) ﬂmlhansi
NTYR Nagpur (d) HIdRT Satara

s faeman fagan Wiy gl fRua 8, A se
TFBRIER WH(UeR) g s wiitawa @R Ferad 82
Where is the famous Vijaya Vittala temple having its 56
carved pillars emitting musical notes located?

QFBBelur (b) HIHCH Bhadrachalam
it Hampi (d) SR Srirangam

oo gira e & 9ua §, siieht Sve sfewr s A
YR H YT Ugdl FRGTET WIS fFar UT? During

the time of which Mughal Emperor did the English East
India Company establish its first factory in India?

S{DHaR Akbar (b) SD X Jahangir
TIMESTE! Shahjahan (d) mAurangzeb

FrafafEa & & #19, af 1001 3R 1998 B RRFEA
gfafa o1 frad &1 fawg %? Which one of the following
is the subject of the Narasimhan Committee Reports of
years 1991 and 1998?

G

Surendranath Banerjee

PRINIECR IS () SfHFTYYR Banking
Administrative Reforms Reforms
FauTe R (d) T GUR Electoral
Constitutional Reforms Reforms

9 & @ o1, Te wWife-Ye ais &1 aRuIia s
%? Which of the following best defines a floating-rate
bond?

AISIANRBITE () UD FYT RSB
s 3R ot TP a8 3R et
gRad-T2ie saTel X URad-TLie saTel X
CISE AR GRIE:E R CISEANGRIEEZ:
aTI\_STEPfA bond with a aTI\_rTEPfA bond with a

fixed interest rate and
has lower yield than
varying interest rate

fixed interest rate and
has better yield than
varying interest rate

bond bond
URadRIT AT R BT (d)  IRIGRITT STl &
s 3R e fAfera 3R fhRs IS R T7S
S &R 1S B g o D1 I & HH TS &
é%a?me‘r Bond with U i€ A bond with a

a varying interest rate
and has better yield than
fixed interest rate bond

varying interest rate and
has lower yield than
fixed interest rate bond

AT F B TR HY STTRIT Al BT 1T 72
Why the Indirect taxes are termed regressive taxing
mechanisms?

Tad IR HIgad, (b)) TR ma g,
I 31 &R W Yo I GE Aol ferdn

Mob. - 7737404085, 8209244090
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59.

@
(©

60.

SITdT %I They are
charged the same for all
income groups

IR A I BIS 1 Tt
WI'\"UTTEET% None of the
above is a correct reason

T ST 81 They are
charged at higher rates
than direct taxes

quft s i o forg, (d)
T G Yoo e
ﬁ'IZITGI'IT‘IT%I They are
not charged the same
for all income groups

3T 81 H HERTY PR A {6 vgan Feqh 3o 3rais
& o1 buar fpar g

Th T SAFL (b) AT
HIGEEERI d) a3

wfafa sro, fafira s FguiRl & fore 4ol aeiR
T 3T fHaT ST 8, SHPT YRTATH 82 The acronym

SRO, being used in the capital market for various market
participants, stands for which one of the following?

(@) Self-Regulatory

Organizations

(c)  Securities Roll-back

61.

@
©

62.

@

©

63.

@

©

64.

@
©

Operators

Small Revenue
Operators

Securities Regulatory
Organisations

YR # HfIYT BT Ierd fHA H8T ST 82 Who is

called the custodian of the Constitution in India?

< Parliament (b) TIE'EIﬁTThe President
ﬁ?ﬁﬂaﬂéThe Supreme (d) SIWRIGI A I B gl
Court None of the above

Frafafaa & @ &9 a1 srg=de, smurdea & iR ot
IEGICG qﬁﬁﬂﬂ SIT b dl %? Which of the following

Article/Articles cannot be suspended even during

emergency?
3G 20 3R 21

3G 19 Article 19 (b)
Article 20 and 21

g 22 3R 23 (d) 3rTEe 24 3R 25

Article 22 and 23 Article 24 and 25

Wﬁ, TqHe faa &1 \"Hﬁﬂ%? In the Parliament, what
is the meaning of the Government Bill—

TAEG U I (b) WBR gRI AT
BRI TR fa9aa Bill a8 Bill approved by
presented by Ruling the Government

Party member

FIAVYATEAGI ST (d) TG & [t i we o
38 P! TRgd Bl & fopet Tt g Oy o
Only the Prime Minister 7 fa9es A Bill

presents the Bill introduced by any
Minister in either of the
Houses of the

Parliament

TR & 53 3rsde & 3idiid, TP UG e DI
qqy ﬁ?ﬂé STt %? Under which Schedule of the
Constitution every Member of Parliament takes oath or

affirmation—
TYH 3G First (b) TR 3HE Third
BS ATHG Sixth

Uiad 3 Fifth )

Mob. - 7737404085, 8209244090
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3 321 A THEEH (sAM) TS g1 BT Uge HHEH
Tg’i?mm?r\vﬁﬁsrfaaﬁraﬁ:‘m%? Which country has

developed world’s first artificial intelligence politician

named SAM?
fS¢H Britain (b) :Q\Trﬂa_s' New Zealand
VRIS Israel

T3hal 3R Saudi Arabia (d)

Thar W'&ﬁ?ﬂ%’ What causes snowfall?

& Gg9 0°c T (b) T IGHSH Y OoRA &
TS SR T F wU A RM, TR 6 F &Y

W@T‘ﬁ%l When ff\_rm\?l?ﬁ%l When rain

freezes into snowflakes
while passing through
the atmosphere.

condensation takes
place below 0°C and
precipitation occurs in
the form of flakes.

e P b wUH (d)
RERECIEEIC
S EUH U B gl
When condensation
takes place in the form
of fog and precipitation
occurs as flakes.

fFafafaa & @ o1 yHsdrg gar T8l 82 Which of the

following is not a planetary wind?
UﬁBEITQ Easterlies (b) Ui AT Westerlies
Sl §ATU Drainage (d) SUIR® Ya- Trade

winds winds

TRTYR IS0 &Y ATTIAS 59 | e B aTelt UgTst
e F ¥ § AT AT %:- The hill range that

separates the State of Manipur from the State of Nagaland

Sld gl ®I dUYHT, Hde
& dYH 9 9gd HH
E-FH%I When the air
temperature is much
lower than surface
temperature

is known as

. 3RTHH HI UgTS! (b) UTHTS DI ULTS! Patkai
Arakan hills hills

A BT UGTS] Barail (d) TR ST IgrET

hills Manipur hills

fFrafafEa ® @ o @t =, fae ok TagsT udaarar
& 99 a'b'_cﬁ %? Which one of the following rivers flow
between Vindhyan and Satpura ranges?

el Narmada (b) I son
II?[ Mahe (d) AT Netravati

STRTTL, I, guad! iR wifa, Fafafea & 3
foa =|T:¢pf 3l Jelddh qﬁ'q‘f %.? Amravati, Bhavani,

Hemavati and Kabini are tributaries of which one of the

following rivers?
gl Mahanadi (b) T R Godavari
P Krishna

PR Kaveri (d)

Frafafaa & & fvw 1y Sam § o searg § ot
Iusfeddiy @ Suwmeddy, wa=fdor &R
3hfed A T ﬁ?‘ﬁ %? Which one of the following

National Parks has a climate that varies from tropical to
subtropical, temperate and arctic?
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@

(©

72.

@

(©

73.

@
©

74.

@
(©

75.

@
(©

76.

@
(©

717.

@
©

Faredt T IAA

Nandadevi National Park

HITSITAIIH ()
Khangchendzonga

National Park

FRTIA AT (d)
Neora Valley National

Park

frafafes & § frw W ST o wearg @ St
Sursfeatiy § Sulweledta, Tu=fidior &
arrﬁ%mﬁfimiﬁ?ﬁ%? In India, in which one of the

following types of forests is teak a dominant tree species?

THEI I I
Namdapha National Park

SITMIASAITA (b))  faredi I Ia
Tropical moist deciduous Tropical rain forest
forest

FARTIATEATTH  (d)  THHI AT I
Tropical thorn scrub Temperate forest with
forest grasslands
YRd & fFrafafed siareal iR faar sifg

1- IR
2- I
3- AftemT

4-bIgl
FrafafEa # @ #1991 &fgor § S 3t 3R SR
AYARUGT & R HT gl 3P H 82 Consider the
following sanctuaries of India
1- Periyar
2- Dachigam
3- Sariska
4-Kanha
Which one among the following is the correct sequence of
location of the above sanctuaries from South to North?
1,4,2,3 (b) 4,1,3,2
1,4,3,2 (d 3,1,4,2

S FAR A ﬁT{q" TTSH B - The enzyme that is

present in the saliva of manis -

Slesict Pepsin (b) I Renin
1Q'm?l_\.rfAmylase (d) E@F{ Trypsin
TS 3R HioieA & faora ot o ok

Iaferd sd ?I Estrogen and progesterone control and
stimulate the growth of -

tﬁ'{qﬂﬁ Pituitary gland  (b)  UTIRTZS U Thyroid
gland

T U Mammary (d) Gﬁmﬂﬁf Supra

gland renal gland

PHSI BT SHTARUT HIA arelt f1eeht 8 - The membrane

covering the lungs is a -

@TBT Pleura (b) WIHITSTH Pericardium
UREIfTH peritoneum (d) TAfH Mesothelium

uféral & A 3reag &) ford U A ST S 82

Scientific study of birds is known as -

NGNS Limnology (b) %ﬁ?ﬁ\—rﬁ Herpetology
= GG Malacology (d) BRI Ornithology

78.

@)
(©)

79.

@)
(©)

80.

@)

©

81.

@)
(©

82.

@)
(©)

83.

@)
(©)

84.

@)

(©)

85.

AT aRa, R faggy warfea 8t B, o, &R
Gﬁ? > fafera= 3.1'% %I Most liquids that conduct

electrnclty are solutions of acids, bases and

diaT Copper (b) Q?g&rﬁmmum.mum

40l Salts (d) ?ﬁ’s’ Iron

TRVRSIRGIASTIUAN, __ GRIYS TS A
TN uerd e & fow frar Sar 81 Activated

Charcoal is used to remove colouring matter from pure

substances by .
fa¥SH Bleaching (b) SIS Oxidation

TR Adsorption (d) RSaRM Reduction

Th Uerd, St o & YU H AT A dagsd
faferaa s=mar %, Ca&IGH %— A substance which readily

forms colloidal solution in contact with water is called -

TS Plass (b) THIRECS HIAES
Extrinsic colloid Associated colloid
HESICAIREZE AN S ) CANIES]

Hydrophobic colloid Hydrophilic colloid

qEl B TH W[ W a4 & U smaas
FENME g6 UeH S8 ¥ [T gAEER 9@t &
T faR &Y it fr i @ SwR ot aﬁ'\r 3o Bt
g1 bl el SIdl %I The phenomena of raising
the outer edge of the curved roads, above the inner edge
to provide necessary centripetal force to the vehicles to
take a safe turn is called

e offts g (b) PRI 3TH AT
Banking of roads Cornering of roads
TR 31t Agw (d) <ul it AgH

Elevation of roads Tempering of roads

fFrafafaa o 3 few @a & forg, fRaarfsal o e
& g ST 19 8191 TfFT? For which of the following

game, players must have the knowledge of Pascal's law?

GFI'IE'FJ?SI"’TCIimbing (b) TR Ef S Paragliding
AT Rafting (d) THaT SIS scuba
diving

T AT U & foe foraa =Y (@ ¥) 3 =maw
@ &T A9 fhar %? What is the value of the Least
Distance of Distinct vision (in cm) for a normal human
being?

2.5 (b) 25

58 (d) 60

fFafafaa & & P9 sfa 1930 A THS HH B
e & Y ik 9¢ R TP A" @1 mate fear

Who of the following organized a march on the Tanjore
coast to break the Salt Law in April 1930?

Fofifocamfl@sy. (b)) I IoFiUEmER! c.
0. Chidambaram Pillai Rajagopalachari
& BRI K. Kamaraj (d) T §9€ Annie Besant

fufafad sy = faar Fifv
1- Wﬁ P S BT ygen Al e AR
arag At

Mob. - 7737404085, 8209244090
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z-mm?ﬂi;xw@ﬂm%q?ﬁg%we{w&rw
GREEIRT
SWIT HYAl § & P AT AL 8/8?  Consider the

following statements

1-The first woman President of the Indian National
Congress was Sarojini Naidu.

2- The first Muslim President of the Indian National
Congress was Badruddin Tyabji.

Which of the statements given above is / are correct?

(@) Had11only (b) HAA2 2 only
(c) 13R2TFiBothland (d) T al13MRAE 2 Neither
2 1 nor2

86. TR 9 fry I # fpar 9M aren dF T4 82

Bamber Dance is a folk dance performed in which state?

(@) 3TY Assam (b) AT Tamil Nadu
(c) P Karnataka (d) IS odisha

87. Rt ow g f5w Irsu ® far 9= aren e 9 82

Singhi Chham Dance is a folk dance performed in which

state?
(a) ST Rajasthan (b) FE UG Madhya
Pradesh
(c) Tifa®a sikkim (d) S3NfE=M odisha

88. IWA-NAY RIPR Siia- aTdl Ugal HRIg I UT?

Who was the first Indian to won Raman-Magsaysay
awardee?

(@) STOUGRI AR (b) 3mErd fa=eT v
Jayaprakash Narayan Acharya Vinoba Bhave

(c) OTaT3TAC Baba Amte  (d)  TITUTQ o80T TIRAW Gopal

Krishna Gokhale

89. WIT ® e RIBR UIed HI 91aT Ugdl HRAHT

YT? Who first Indian was to won the Nobel Prize in
Literature?

(@) SIARRE A5 (b) BTSN OIS STAH Kazi

Jawaharlal Nehru Nazrul Islam

(c) TR HEIS T (d) % 1Y IR Rabindra

Mohandas Karamchand Nath Tagore
Gandhi

90. dTeER YHd UTaR ¥ HRd & fovd Iy A fRa &2

Talcher Thermal Power station is located in which state of
India?

€) a@Tl:ﬂTelangana (b) ST odisha
(c) JTR UG Uttar Pradesh (d) f{fFHH sikkim

91. PREI YR YHd UIaR Wi YR & fra =g o Ry«

%? Korba Super Thermal Power Plant is located in which
state of India?

(@ e -l Telangana (b) ST odisha
(c) TR UG Uttar Pradesh (d) @?ﬁWChhattisgarh

92. U frw Iw # fFar A aren AP TI @2

Karaga Dance is a folk dance performed in which state?

(8) FRWS Jharkhand (b) AR HLHR Jammu

and Kashmir

(c) Feh Karnataka (d) @T‘ﬁﬂ"'l?{ Chhattisgarh
93. FHYFBA T fr I5u H fbar 9 a1Ten AP T 82

Kathakali Dance is a folk dance performed in which state?

(3) FRWS Jharkhand (b) MY TS Andhra
Pradesh

(c) ﬂ'&l?“l?l@'TamilNadu (d) P Kerala

94. 3RTac Sa fafduar urh Ht U BT ugar 3= yuTdt
-3 TYR&0T Ut (SNSed) W« v forar
T | RE fra R A R 82
Aravalli Biodiversity Park has been declared as India’s first
"Other Effective Area-Based Conservation Measures"
(OECM) site. In which city is the venue located?

(@) NG (b) TaTETE
Chandigarh Guwahati
© 9o (d) TeI™
Pune Gurugram

95. URTH 9 GIRT NPT I A5 ATH BT (LoC) P FT
¥ fHat i [HE] @t TIT.‘;: %? How much amount has

been provided by Exim Bank to Sri Lanka as Line of Credit
(LoC)?

(@)  aoofBifera it (b) 200fBfT SEIDT
SICIR 400 million USD SR USD 200 million

(c) soofrfer ssien! (d) 300ffer st

SIAR USD 500 million SIAR USD 300 million

96. fHd T A 8-18 T Pt AR & I YfAHT & g w19
yftre faem ateEr Wﬂ'ﬁ%’ Which state launched 'Bal

Shramik Vidya Yojana' for child labourers who are 8-18

years old?
() T US Madhya (b) BRATUM Haryana
Pradesh
(c) USIE Punjab (d) IR TS Uttar Pradesh

97. fuff@a # @ #1991 §& fien-Fadf v & e gH
P YUE P oI IRPR gIRT A11¥d fH4aT1 71471 82 Which of

the following Bank has been nominated by Govt. for
collection of donations for PM-CARES Fund?

(a) A SHPNBBank (b)) THSISMTE S SBI Bank
) SeTTeidEdd () TIASITH §P HDFC

Indian Overseas Bank Bank

98. TTa &1 ® Aps A fhw 3= & e &= # gur & g 30
fafera usp & Bur Y TR &Y 32

Recently in which country has ADB approved a loan of 30
million USD to improve the education sector ?

(@) U@ OREISED
Nepal Sri Lanka

© Y™ (d) |

Bhutan all

99. BTW g ¥ Wax URd & ugd faw w=ft & ufowm &1
3Rl Hgi forar TaT 82
Where has the statue of the first Finance Minister of
independent India been unveiled recently ?

Mob. - 7737404085, 8209244090
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(@) T (b) =
Chennai Kochi
(© PEER (d) ISR
Coimbatore none
100. R frord 9% 7 fR¥USH F-efRfeq I= faftRs

@
(©

101.

@
©

102.

@
©

103.

@
(©

104.

@
(©

105.

PT AR IE, PR (01 2 | S BT YT H31 A 82
The Reserve Bank of India has canceled the license of the
Independence Co-Operative Bank Ltd. Where is the
headquarter of the bank located?

Qﬁf Pune (b) TRI® Nashik
P Kochi (d) YR Raipur

(QUES : 101 - 103 ) faf¥ra fawat o 8 ure &1
Bl Ft AR ot § ¥ }1 P AFER @)
AFYEP ufeq fibr ual & <R difora)

W uiw fawal A e 1y o A feaq ufawra siw
T fpu g

table is given below of students having marks in various

subjects. Please read the information carefully then
attempt the questions.
Subjects
Students Maths( out | Science (out | Hindi (out of ﬁ?;gf;t(e;ut English (out
of 100) of 150) 100) 70 of 80)
Prithvi 90 110 80 65 70
Aslam 85 75 85 52 53
Asim 75 95 55 45 60
Pradeep 65 105 65 50 65
Prabhash | 88 120 70 60 75

What is the percentage marks Asim did secure in all the
five subjects together?

62.5% (b) 65%
66%66% (d) 68%

gt 7 fora= fawal & so% & Sifire 8id urw fpg?
In how many subjects Prithvi scored more than 80%
marks?

1 () 3
4 d 2

SRTAH §RT $HER | UTW 3B & % BT 3Tl H yred
3P F % | JUTd FT 32

What is the ratio of % of marks scored by Aslam in
Computer to the % of marks scored in English?

1.10:11.10:1 (b) 1.01:2
1.05:1 1.05:1 (d) 11212
3 U $T Yo 59 UPR 3ifhd Har

UH ghTGR
? fF 20% ¥ ge 3 & 918, ATY 33.33% 21 A AN
P1 fahd g 5600 &, O THH $T 59 Yo fha-T 22 A
shopkeeper marks his goods at a price such that after
giving a discount of 20%, the gain is 33.33%. If the selling
price of the good is 5600, what is the cost price of goods?

7000 (b) 4200
2800 (d) 4900

14.4 3R 4.9 F &I AT ATUTT YT 2 3R 4 F TR
HHTIUT PT WW%7 What is the ratio of the mean

proportion between 14.4 & 4.9 and the third proportion of
2&4?

@)
(©)

106.

@)
(©)

107.
@)

(©)

108.

@)
©

109.

@)
(©)

110.

@)
(©)

111.

@)
(©)

112.

@)
(©)

12:21
21:12

20:21 (b)
21:20 ()

A, B 3R c BT BT &HaT3: 4: 5 F UG A 1 AR ATH
1Y BT $3d 8, @t 04 & & v wrf T HR IHaA &
c 3pd forae e & 39 B BT 50% T HRaT B2
Efficiency of A,B and C are in the ratio of 3:4:5. If they work
together, can complete a work in 94 days. In how many
days C alone complete 50% of that work?

18 (b) 12

20 (d) 15

IS tanda= cot (960/32)°, T cos3a BT HIF HIT&?
If tand4a= cot (960/32)°, then what is the value of cos3a?

) ) %

1 @) v3/2

20%, 25% 3MR 25% P HANTI Fe, [FTP! thd ge &
ARTAY %? The successive discount of 20%, 25% and 25% is
equivalent to a single discount of?

52.5% (b) 55%

60% (d) 65%60%

TP YT Bt YT HHT: 8 A, 15 A7t 3R 17 AR B
3P TP $11 W, B 3.5 9 & g9 991¢ wra &1
T & &1 gRTIR Y 5 &) BlsH: YT &1 &% d
T %? The sides of a triangle are 8cm, 15cm and 17cm
respectively. At each of its vertices, circles of radius 3.5cm
are drawn. What is the area of triangle excluding the
portion covered by the sectors of the circle?

205 Ff WM 215ecm? (o) 47T AW 47 cm?
235 T AT 23.5em?  (d)  40.75 O IHT 40.75 cm?

45 BT P TH BT H, 80% TSP ¢ SR Ay ASfbai §
TSPl b 3N 3 45 § 3R ASHI H 50 7 | T HeT
& 3ﬁ'\‘|’d 3P fra %’-’ In a class of 45 students, 80% are

boys and rest are girls. The average marks of girls is 45 and
that of the boys is 50. What is the average marks of whole
class?

45 (b) 55
50 d) 49
LBTHF AT 8?
The value of
1 1 6 -3
E-2;--C+ ———)}]
2 ) 3
2% d 2%
1 _ 5 X i
afy X I T ** fPrad W 2
X _1_ a_1
If x " then x* js equalto ?
140 (b) 130
135 d) 110

Mob. - 7737404085, 8209244090
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113.

@
(©

114.

@
©

115.

@)
©

116.

@
(©

117.

@
(©

118.

@
(©

119.

TP g &1 TP Yoir 5 il § 3R 301U famof
8 At 31 TUAGUS T AT FT 82 One side of a

rhombus is 5 cm and one of its diagonals is 8 cm. What is

the area of the rhombus?
24 3 I 24cm?

48 7 it 48cm? (b)
40 7 It 40cm? (dy 32 if it 32cm2

20 T3 BT 3T 50 B | TGt 9 WBATSH BT 3 60
? 3R 3rTelt & T3 &1 3Nwd 45 21 18 &Y Tw=, 19
df Je ¥ 7 w9 7 3R 10 & W@, 20 I @I R 1
31fere 8, ftbT 18 oY 3R 20 I & BT ST FATR? The
average of 20 numbers is 50. The average of first 9
numbers is 60 and the average of next 8 numbers is 45.
18th number is 7 less than the 19th number and 19th
number is 1 more than the 20th number, then what is
average of 18th and 20th numbers?

31 (b) 32

35 (d 34

TS A 3R B HHTT: 8 HE 3MX 10 4¢ A TP ¢F WX ADA
g 3R UIEY ¢, 12 6 # Q1 TP Wrell HR gobar g1 [t
A UIEUl B TP 1Y Wi oTd &, APT UTSUA Bl 4
He P F1¢ ¢ B QAT AT 8 | &P & AW YN Hi fraq
o= Kiry SITEIT? Pipes A and B can fill a tank in 8 hours
and 10 hours respectively and pipe C can empty the full
tank in 12 hours. All three pipes are opened together, but
pipe A is closed after 4 hours. In how many hours will the
remaining part of tank be filled?

24 (b) 30

26 (dy 22

TH 12 e St ARG & M At TR & Al &1
IFY BIVT 45° § MR STaR & 968 & A0 P10 a B,
Eﬂ'mﬁ?tan a=6/7, E'Tﬂ?ﬁﬁ'l’éﬂ% ? From a
top of a 12 m high building the angle of elevation of the
top of a tower is 45° and the angle of depression of the foot
of the tower is a, such that tana=6/7, what is the height of
tower?

36.22H36.22 m (b)
3636 m (d)

Y 2%+b3=5616 3MT a+b=27, A (a-b)2+ab fFHP SRR
L

26.22 Ht26.22 m
26 Ht 26 m

If a3+b3=5616 and a+b=27, then (a-b)*+ab is equal to?
236 (b) 216
208 (d) 180

ABCD U% I 1 I 39 UPR 2 % A 3/ BRA arar
9 BT AR & 2ADC = 145 ° §1 2BAC BT TTY T §?
ABCD is a cyclic quadrilateral such that AB is the diameter
of the circle circumscribing it and ZADC=145°, What is the
measure of ZBAC?

45° (b) 55°
65° (d) 90°

T gdted , 7o # a5% Iufigar S<iivl gT iR s8%
S # Srgitol gu I afe g fawa & 32% Sr=iivi g,
ar é‘hﬁ faual A Ihof o foraer %’? In an examination,

45% of candidates passed in Mathematics and 58% failed

@)
(©)

120.

@)

(©)

121.

@)
(©)

122.

@)
(©

123.

@)
(©)

124.

@)
(©)

125.

@)
(©)

126.

in English. If 32% failed in both the subjects then what %
passed in both subjects?

55% (b) 71%
19% (d) 45%

82 + [2§ + {3§(§ + i)}] frae RTER 2?2

8:? + [22 + {3 i(z * i)}] is equal to?

841/48 (b) 849/48

281/16 (d)

-8 120 fft/ae &Y wfa A dsa g, ¥4 ¢ &Y quE
REA NS W 2, P2 e AR s 21 afiyYae
3R ¢ DI TAHITS HHT: 100 Hicx 3R 200 X &, A1 ¥
c P Ifa 1d PR |

A train B speeding with 120 kmph crosses another train C,
running in the same direction in 2 minutes. If the lengths
of the trains B and C be 100 m and 200 m respectively,
what is the speed of the train C?

111 kmph (b)
123 kmph (d)

283/16

127 kmph
129 kmph

IS AT 3P H=AT 84x37y6, 72 A FTAUTST &, a1 (x2+y2-
xy) BT GAdH HIH fHaAT B If the seven digits
number 84x37y6 is divisible by 72, then what will be min
value of (x*+y?-xy)?

39 (b) 29

37 (d 14

'qﬁ' (4a+5)3+(3a+6)3+(a-9)3=(4a+5)(a+2)(9a-81), @ 50 BT
AR E?

If (4a+5)3+(3a+6)3+(a-9)3=(4a+5)(a+2)(9a-81), then what
is the value of 5a?

-0.25 (b) -1

-0.5 (d) -1.25

F% 0 F Y TH g0 & aTex fig N A NA 3R NB @
TRvET § 191 1f A 3% B 79 W fag & fzBNA=70°,
@ 20AB fFrad W %? NA and NB are two tangents
from a point N outside a circle with centre O. If A & B are
points on the circle that ZBNA=70°, then £OAB is equal
to?

30° (b) 35°
40° (d) 45°
.............. T A fFad R 22

The value of
s5in60°—cos30°+tan~60°

cos260°—cot 60°+cos230°

is equal to?
3v3/2 (b) 9/4
V3/2 (d) 9/2

TP 9o o1 B & 130% F gfS 2t 7 iR gwat
TS # 30% B HH Bl &1 SAD! M | wla=a

Mob. - 7737404085, 8209244090
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@
(©

127.

@
(©

128.

@)
©

129.

@
©

130.

@
©

131.

@
©

132.

@
(©

133.

@
(©)

q@w %? The radius of a cylinder is increased by 130%
and its height is decreased by 30%. What is the percentage
increase in its volume?

283.3% (b)
270.3% 2.703 (d)

A T 3T, B BT AT A 32% 34U §1 B BT 3T, A B
Mg frar % 7:511%? The income of A is 32% more than
the income of B. By what % is the income of B less than the
income of A?

47.05% (b) 68%

24.24% (d) 19.06%

170.3%
183.0%

& YT B3 FT U 7: 6 7 | ST UG
6048 B | &Y LTS TSITSAT BT HIEH FIT &2 The ratio of
two positive numbers is 7:6. Their product is 6048. What is
the mean of the two positive numbers?

72 (b) 84

78 (d) 76

120 9 Sa18 F Srefiia &1 9 Y v a (@it Wi )
TJR?IT% (n=22/7 T‘ﬂﬁrl'a)? What is the curved surface area (in
m?) of a hemisphere of height 120 cm (take n=22/7)?
9.051 (b) 9.042
905.1 (d) 904.2

64 fa=T H 24 afeRT T 1 B A d ¢ | fpaq aafdd 32
oY & wur s BT s fRvr WRT R qha 72 24
people can do a job in 64 days. How many people can finish
half of the same job in 32 days?

48 (b) 32

24 (d) 72

T7id ST ® A1a P i 12fF /e 81 9w 18 fe awy
F Fd ot § 3R 4 ¥ F yRf® fig wv auw an
Trl'l?ﬂ%l Wﬁﬁﬁﬁ/ﬁﬁﬂ%’ The speed of a
boat in still water is 12km/h. It goes 18km downstream
and comes back to the starting point in 4 hours. What is
the speed of the stream in km/h?

3 (b) 3.5

4.5 (d) 6

TS ¢ 0 U Afa Afed war g & ag ue e # o6
gafaes Uke R T@ar 81 afe 3 wimar 8 ¥ 39 6o
MR @R AFAT AT, A ST P I RT B2 Amanina
train notices that he can count 96 electric posts in one
minute. If they are known to be 60 m apart, then what is

the speed of the train?
96fdHil/edeT 96km/h (b) 3427/AHS 342m/s
342 fopHt / €T 342km/h

95 fodl /deToskm/h - (d)

TP UIP ATYRY 120 fHUT ST 9360 TUA A WG B
98 703/ fFM R s0% grara=gar 3 | W frm fraqr e
I A G A9 1T For a8 10% AT U HR
Tdb? Awhole seller buys 120 kg pulse for Rs.9360. He sells
80% pulse at Rs. 70/kg. At what rate per kg should he sell
the remaining pulse so that he can earn 10% profit?

Rs. 148 (b) Rs.148.5

Rs. 140 (d) Rs.149

134.

@)
(©)

135.

@)
(©)

136.

@)
(©

137.

@)
(©)

138.

@)

14 HEHT & T 67400 TUT BT AR W ATYROT AT
4718 U g1 Ufd o =a 9¥ (% H) FT 8?2 Simple
interest on a sum of Rs. 67400 for 14 months is Rs. 4718.
What is the rate (in %) of interest per annum?

4.5 (b) 5.5

5 d 6

20% a1i¥® =U A HOIfera 2 9 & for 1200 U &Y
WWWWWI Find the interest on an amount
of Rs. 1200 for 2 years at 20% compounded annually?

Rs. 528 (b) Rs.630

Rs. 600 (d) Rs.480

( QUES : 136 - 140 ) UTS TTd U®H T3 A& &
oA %) guifar @ fored o 4 39 Wil fiva ¥
IR T UBT W1aT 81 U6 BT ATYD ST B
3R FFafefad usl & SR v

&l S =1200

&’ m Quant
5 | Reasoning

m /] English
2 -'

Tfe so% BT ®1 wRidIeT fawy wie g, freiA few-eie
U P SIS [T § dUT dSiPal BT dsHl A
U 7: 5 8, el U sMswera fan ot 5=
dsiPal @ Fa T AT g e A% e T &)
IFTgwerd fan g2
The pie chart shows the results of an online survey which
asked students about their favorite subject. Study the
graph carefully and answer the following questions.

If 50% of the number of students whose favorite subject is
Quant uninstalled the TokTik App and 7:5 is the ratio of
girls to boys who uninstalled the app. What is the total
number of girl who uninstalled the TokTik app?

168 (b) 144

120 (d) 268

gfe B &1 widier fawg et w wd #1715 $a
111 18000000 T A, A I BT R @ B 7 aTet
R & <R, o widler fawg sRish 82
If the total amount spent on the students whose favorite
subject is Reasoning was Rs.18000000, then amount spent
on the students whose favorite subject is English was?

Rs. 500000 (b) Rs. 5000000

Rs. 600000 (d) Rs. 6000000

BHEl @ paaen, e rader fiva wic g, sEi ot
%mwiw,ﬁww'?ﬂmﬁwﬂaﬁw%,mmm%

If the total number of student whose favorite subject is
Quant is what % of the total number of student whose
favorite subject is Reasoning?

62.5% (b)  400%
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() 480% d) 160%

139. TfS ASHI BT ABISTI A IUTA 5:1 8, NTH1 Widiar
fawg oit.wg. ?, o) o f3al &) oo T w2
If the ratio of boys to girls is 5:1 whose favorite subject is
G.S., then total number of girls are?
(@ 120 (b) 28
(c) 24 (d) 48

140. 794, 7 Gt & UAS S &I, DR A DR fHamar smar
&1 ufvomdft gAY (@t Aeft W) &1 pa gy A
%? 7 cubes, each of edge 7cm, are joined end to end. What
is the total surface area of the resulting cuboid (in cm?)?
(@) 1470 (b) 1274
(c) 784 (d) 1740

141. TP IR B 3R gora aret i, &faer aa & a1y
P o 59 YPR I1141 & 1P sina = 4/5 1 afe At 31
e, AR ¥ 15 Hiex §, A1 39 g $1 a1 71 @ wgi
'\‘ﬁ'ﬁ& Cak il ?fﬁ'l? &1 W HIdT %? A ladder leaning
against a wall makes an angle a with the horizontal ground
such that sina=4/5. If the foot of the ladder is 15m from
the wall, then what is the height of the point where the
top of the ladder touches the wall?
(& 15m (b) 12m
(c) 20m (d) 25m

142. At &) Fua & 20% It w3 g8 2| fpan ufama e
e SUHRT 98T APl & Forad gy # FIs uRad= =

3-1? The price of sugar is decreased by 20%. By what
percent can a person increase the consumption so that
there is no change in the expenditure?

100 C 1720
(@ 12 () 12 :

100 120,

T% (d Tq"fﬂ

©

143. (QUES : 143 - 147) QU T SR =i, 31 & i auf &
?ﬁqé?%ﬁﬁaaﬁmuﬁﬁaﬁﬁaﬂﬁaﬁ (@ #)
EQIIHI |
fou T IR #, 3 a¥ & fow | SR Hifear &
3a faest o (goiRl /) foraem srav 82
The given bar chart, shows the sales ( in lakh) for sets of
Mobile Phones of three companies in recent three years.

Sales Unit {in lakh)

4.5

35

5

SONY SAMSUNG NOKIA
2018 m2015 m2020
In the given bar-chart, what is a difference between the
average sales of SONY and NOKIA for 3 vyears (in
thousands)?
@ 5 (b) 10

(c) 8 (d) 3

144. feuwuard ¥ afe 2010 ¥ AR gRT UMY B W arfofa
ATY 981 FUI T, At 3ffofa o @y (ara W) uT:
In the given chart, if the profit earned per phone by
SAMSUNG in 2019 was Rs. 981, the total profit earned was
(in lakh):

(@) Rs.2354.4 (b) Rs.4.3164
(c) Rs.4316.4 (d) Rs.2.3544

145. feumu=rd & af 2018 & |- 3R 2019 # AT gRT
Y 7T I PT SAJUTd T 32
In the given chart, what is the ratio of phone sold by SONY
in year 2018 and NOKIA in 2019?

(@) 24:44 (b) 24:18
(c) 22.63:1 (d) 2.263:1

146. Hﬁ'eﬂx =5/61 3R cosa = % , @l sin20 EI'TITI'F-T%?
If 8+a=5/6 it and cosa = % then what is the value of sin26?

(@ o (b) v3/2
(c) 1/2 (d) 1/v2

147. US 319 3o e nyR o1 Bsar s It ik FHars
30 It & FU H , S G Y9 U HI1 & forg
TS SaTE § v frar a1 8 | oo g v
ﬁq@mmiﬁ‘ﬂ? A solid cylinder having radius

of base as 5 cm and height as 30 cm is bisected from its
height to get two identical cylinders. What will be the
percentage increase in the total surface area?

(@) 13.26 (b) 14.28
(c) 15.30 (d) 16.32

5 4 1
148. TR xe-5x+1=0, a1 s BT HE T 8?

5 1
X -
If x2-5x+1=0, what is the value of x=7?
(@) 2222 (b) 2323
(c) 2424 (d) 2525

149. TSI BIETHM TS R 756 A eTaFT NPT, o=t
ﬁ?trh‘urrqwq;llfaﬁa‘fv What is the smallest value that

must be added to 756, so that the resultant is a perfect

square?
(@ 28 (b) 27
() s (d) 9

150. I TP GWHATHT25%, 8 &, A 98 V&I H1 & & YRS
F@TﬁWﬁ 75% Hﬁlﬁ%? If 25% of a number is 8,

then what is the number which is 75% more than the initial

number?
(&) 64 (b) 56
(c) 32 (d 72
151. Identify the segment in the sentence which contains the

grammatical error. If there is no error, select 'No error'

Most astronomers believe that large quantities of some
unidentified material pervade into the universe.
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@
(©

152.

@

(©

153.

@
©

154.

@

©

155.

@
(©

156.

@

(©

157.

Most astronomers (b) large quantities of some
believe that unidentified
material pervade into (d) Noerror

the universe.

Identify the segment in the sentence which contains the
grammatical error. If there is no error, select ‘No error'

It is inconceivable that any effort to ostensibly ameliorate
the fortunes of a particular group should be completely
impervious to the entreaties of intended beneficiaries.
the fortunes of a
particular group should

It is inconceivable that (b)
any effort to ostensibly

ameliorate be completely
impervious
to the entreaties of (d) Noerror

intended beneficiaries.

Identify the segment in the sentence which contains the
grammatical error. If there is no error, select 'No error'
The efforts made by the charity were aimed to provide
shelters to the homeless people.

The efforts made by the  (b)
charity

to the homeless people

were aimed to provide
shelters

(d) Noerror

Identify the segment in the sentence which contains the
grammatical error. If there is no error, select 'No error'
The party had also raised questions about the manner in
which the companies are roped in as offset partners for the
deal.

The party had also raised (b)
questions about the

manner in which the
companies are roped in
as

offset partners for the (d) Noerror

deal.

Identify the segment in the sentence which contains the
grammatical error. If there is no error, select ‘No error'
Seldom or ever have | tried my best to defend my friends,
who are after all guilty to some extent.

Seldom or ever have | (b) tried my best to defend
my friends,
who are after all guilty (d) Noerror

to some extent.

Improve the bracketed part of the sentence.

(No sooner the advertisement regarding the launch of
new smart phone appeared) than there was a rush on the
online website for pre booking the same.

No sooner the (b)
advertisement regarding

the launched of new

smart phone appeared

The advertisement (d)
regarding the launch of

new smart phone was

no sooner having

appeared

No sooner did the
advertisement regarding
the launch of new smart
phone appeared

No improvement

Improve the bracketed part of the sentence.

@)
(©)

158.

@)
(©)

159.

@)
(©)

160.

(@)
©

161.

@)

(©)

162.

@)

If a person (studied) the history of the Maratha empire, he
would have wondered how a small warrior tribe could
have challenged the mighty Mughals.

has studied (b) had studied

could study (d)  Noimprovement

Improve the bracketed part of the sentence.
We do not (agree on) certain things.

agree to (b) agree about
agree of (d)  Noimprovement
Improve the bracketed part of the sentence.

(Hardly nothing) was offered to the victims of the
earthquake.

Hardly something (b)  Hardly anything

Hardly little (d)  Noimprovement

Improve the bracketed part of the sentence.

It is wishful thinking you can improve the situation by

doing (with) such people.
away of (b)
from (d)

away with
No improvement

( QUES : 161 — 165 ) Read the following passage carefully
and answer the questions given below it. Certain words
are given in bold to help you locate them while answering
some of the questions.

Everyone constantly faces challenges-at home with our
spouse, children and other family members, at work with
our peers and bosses. Sometimes life itself becomes a
challenge because it throws up so many relationship-
based and situational challenges. But the biggest challenge
of them all is one’s mind. Often, it is possible to control
everything else but one’s mind. Being master of the mind
is no less than mastery of the world. The Bhagawad Gita
says, “Our mind is our best friend and our worst enemy. If
we know how to manage our mind, we can manage our
time, our relationships, our life, everything”.

This is where spirituality comes in. It is the path to a
mentally decluttered, value-based life. Spirituality teaches
us to control our thoughts, emotions and desires. It is
actually the science of managing one’s mind.

Once we start to have control over our actions we may also
find the law of attraction coming into play. Inexplicable
events occur and we find things falling in place for us. They
seem to be co-incidence, but that’s the law of attractions
working for you. You attract what you think. When you
think positive you get positive results.

The central idea of the passage is

the importance of (b) the need to understand
managing external the law of attraction
challenges

the importance of
gaining control over
one’s mind

the value of spirituality  (d)
in life

“It is possible to control everything else but one’s mind”
means

It is possible to control
everything else except
one’s mind

It is possible to control (b)
one’s mind more than
anything else
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(©

163.
@

(©

164.
@

©
165.
@)
©

166.

@
(©

167.

@
(©

168.

@
(©

169.
CY
©

Everything else is useless
unless one controls
one’s mind

Everything else is (d)
achievable if one
controls one’s mind

The word ‘decluttered’ in paragraph 3 means

to accumulate (b) toremove unnecessary
unnecessary things things
to clarify things (d)  to hoard things

What ‘seems to be coincidence’?

Events becoming
inexplicable

Events happening all (b)
around as

Events falling short of (d)
our expectations

Events happening
according to our wishes

How does the law of attraction work in life?
We start feeling positive (b) We make inexplicable
things happen

We find things falling
apart

We attract the things we (d)
desire

(QUES : 166 — 170 ) In the following passage some of
the words have been left out. Read the passage carefully
and select the correct answer for the given blank out of the
four alternatives.
Home is the first place of education and parents are (vi)
teacher in everyone’s life. In our childhood, we get
first impression of education from our home especially
from our mother. Our parents let us know the importance
of (vii) education in the life. When we become
three or four years old, we are sent to the school for the
proper, regular and (viii) study where we have to
give many exams and then we get a pass certificate for one
class. Slowly we (ix) ahead by passing our one by
one class until we get passed successfully till 12th
standard. Then start preparations for getting admission to
the technical or professional degree which is called as
(x) study. Higher study is very necessary for all to
get good and technical job in the life. We become a well-
educated person in the life by the efforts of our parents
and teachers. They are real well wishers of us who helps
us in leading our life towards success.
Home is the first place of education and parents are
teacher in everyone’s life.

first (b) last
prior (d)

intermediary

Our parents let us know the importance of
education in the life.

vast (b) good
worst (d) bad

When we become three or four years old, we are sent to

the school for the proper, regular and study
objectional (b) relational
sequential (d) constitutional

Slowly we ahead by passing our one by one class
went (b) goes
going (d) o

170.

@)
(©)

171.

@)
(©)

172.

@)
(©)

173.

@)
©

174.

@)
©

175.

@
(©)

176.

@)
(©

177.

@)
(©)

178.

@)
(©)

179.

@)
(©)

180.
(©

181.
@)
(©)

Technical or professional degree which is called as
study.

higher (b)
vocational (d)

secondary
proper

Select the correct synonym of the given word.
PUMMEL

Defend (b)
Whip (d)

Surrender
Compliment

Select the correct synonym of the given word.
INIMICAL

Untidy (b)  Harmful

Funny (d) Trial

Select the correct synonym of the given word.
SPRUCE

Lethargy (b)
Scruffy (d)

Elegant
Ragged

Select the correct synonym of the given word.
PERDITION

Garrison (b)
Downfall (d)

Acclamation
Ransom

Select the correct synonym of the given word.
DANK

Parched (b)
Dry (d)

Clammy
Jaunty

Select the correct antonym of the given word.
STEADFAST

Staunch (b)
Ardent (d)

Pliant
Rigid

Select the correct antonym of the given word.
SIBILATE

Whiz (b) Boo
Exalt (d) Rasp

Select the correct antonym of the given word.
MAGNATE

Mogul (b)
Aristocrat (d)

Tycoon
Nonentity

Select the correct antonym of the given word.
IMPUGNABLE

Dicey (b)
Indubious (d)

Debatable
Hazy

Select the correct antonym of the given word.
SCRIMP

Squander (d) Curtail
Select the wrongly spelt word.

dissappoint (b) disappear

disallow (d) discomfort
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182.
@
©

183.
@
(©

184.
@
©

185.
@)
©

186.

@
©

187.

@
©

188.

@
©

189.

@
(©

190.

@
(©

191.

@
(©

192.

@
©

193.

Select the wrongly spelt word.

blister (b) blossum

blind (d) blemish
Select the wrongly spelt word.

estimate (b) essencial

esteem (d) establish
Select the wrongly spelt word

laborious (b) mysterious

courtious (d) religious
Select the wrongly spelt word

dreamy (b) dreadful

dribble (d) drougth

Select the option that can be used as a one-word
substitute for the given group of words.
In exactly the same words as were used originally
Vesper (b)
Venison (d)

Vignette
Verbatim

Select the option that can be used as a one-word

substitute for the given group of words.

A Person who is slow in learning
Drover (b)

Dower (d) Drey

Dunce

Select the option that can be used as a one-word
substitute for the given group of words.

Costing Nothing

Heretic (b)
Gratis (d)

Hippy
Hangar

Select the option that can be used as a one-word
substitute for the given group of words.

Loop of rope

Repine (b) Rankle

Noose (d) Flay

Select the option that can be used as a one-word
substitute for the given group of words.

A branch of medical science that deal with nose and its
disease

Phrenology (b)

Osteoarthritis (d)

Cheiloscopy
Pulmonology

Select the appropriate meaning of the given idiom.
A hill of beans

Pivotal part (b)
A thing of little value

A correct account
(d)  Asource of amusement

Select the appropriate meaning of the given idiom.
To die in shoes

To be murdered (b)
To suicide (d)

To be excessively excited
To die because of illness

Select the appropriate meaning of the given idiom.
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194.

@)
(©)

195.

@)
(©)

196.

@)
(©)

197.

@
(©

198.

@
(©

199.
@)
©

200.

@)
(©

Plain as pike staff
Dull (b)
Lifeless (d)

Very obvious
Mysterious

Select the appropriate meaning of the given idiom.
Run down

Criticize (b)
Compromise (d)

Cheerful
To be defeated

Select the appropriate meaning of the given idiom.
Brain sauce

Foolish (b)
Mentally ill (d)

Wisdom
To hit someone on head

Select the most appropriate word to fill in the blank.

The current in global negotiations over

climate change has stalled progress on the issue.
intransigence (b)

stalemate (d)

transparency
rigidity

Select the most appropriate word to fill in the blank.
During a depression even the affluent middle class

struggles to out a living.
make (b) eke
pull (d) stretch

Select the most appropriate word to fill in the blank.

Nobody gets with a pretentious smug.
along (o) up
about (d) through

Select the most appropriate word to fill in the blank.
At night, the winding roads can make driving up the

mountain a journey.
carefree (b) beastly
obnoxious (d) treacherous

Select the most appropriate word to fill in the blank.
Crimes against women are of the deep
rooted patriarchal systems of our society.

indications (b)
demonstrations (d)

manifestations
explanations
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